Chemistry 141





Name 





Dr Cary Willard



Quiz 8 (20 points) 




April 3, 2003


1. (10 points) Calculate the net energy change in kJ/mol for the formation of SrCl2 from its elements?  Heat of sublimation for Sr = +164.44 kJ/mol, IE1 for Sr = +549.5kJ, IE2 for Sr = +1064.2 kJ/mol, bond dissociation energy for Cl2 = +243 kJ/mol, EA for Cl = -348.6kJ/mol, and lattice energy for SrCl2 = 2156 kJ/mol.
2. (7 points) Calculate (Horxn for the following reaction


2 H2S(g)  +  3 O2(g)  (  2 SO2(g)  +  2 H2O(g)


Given 
(Hof  (H2S,g) = ‑20.2 kJ/mol



(Hof (SO2,g) = ‑296.8 kJ/mol



(Hof (H2O,l) = ‑285.8 kJ/mol


(Hof (H2O,g) = ‑241.8 kJ/mol

3. (3 points) Ethyl alcohol has the chemical formula CH3CH2OH and the (Hof for the compound in the liquid form is – 277.63 kJ/mol.  Write the chemical reaction that correlates to this enthalpy of formation.
